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HW Check l. Which of the following equations describes a line
Kahoot that is parallel to the line described by y @x + 47
HW #1-11 .Y _\,\5‘
A.y=4x+ 2 =
B.y=2x-38
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l%ulzL r'wla\zcy8 @Y =-2x * 3
- HW 2.3 due y=(1/2)x + 2
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How do | identify humbers and ’c\(‘__@_”g_(, the sign.
two parallel or
two perpendicular
lines?
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Algebre 1 Unit 3 Paraliel and Perpendicular Lines

Practice —Parallel and Perpendicular Lines Day 1
Name Date Period

1.

Given the graph:

G [ A. What is the slope of the line?

B. What is the slope of a parallel line?

\ : I I L C. What is the equation of a line parallel and passes

I . \ o ' I ' through the poin
ESERSEEEE O —
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2. [If given these two points from a linear function: (-6, -4) and (3, 2) \,‘\
—1p | =4
. . 2
A. What is the slope of the line? ! .q < 3 2
B. What is the slope of a parallel line? u. L
= -l =

C. What is the slope of a perpendicular line? ™ 2 m—& = q 3
3. Show that ABCD is a trapezoid. (Hint: In a trapezoid, exactly one pair of opposite sides is parallel).

B A |/ BL same slop

o\ m= M= —
\ —_—
\ X
- e =\Z _ =3
4. Given the table: AR 4 -
\/1’ v M = _A_j = =9 = -3
A. What is the slope of the line?™ = Q DY 3
B. What is the slape of a parallel Iing'.-‘zD
C. What is the slope of a perpendicular line?
5. Given the equation: y = 3
A. Find the equation that pa‘ses |Hr0 rng point I,Na anx to the line.
-

B. Find the equation of the line that passes through the point (& a that ismd\'cu\ar to the Ii -
given. —

October 22, 2015



16 parallel and perp day 2.notebook October 22, 2015

Essentiaf Cuestion  How do | identify two parallel or two perpendicular lines?

Kahoot Time!

Get out your device! Please raise your hand and
wait pafiently if you need to borrow an ipad.

You can use scratch paper or a whiteboard
marker to show work on your table.

. You will receive a participation grade for today!


https://play.kahoot.it/#/k/7646f5c4-e0cd-440d-ba01-c5ac826b8f6e
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Essertial Cuestion  HOw do | identify two parallel or two perpendicular lines?

5. Given the table:

3[1 [6 [11 [14 |
8|12 -8]-28]-40]

X
y

¢ What is the slope of the line?
o Whatis the slope of a parallel line?

o What is the slope of a perpendicular line?
6. If given these two points from a linear function: (2, 8) and (4, 14)
¢  Whatis the slope of the line?

s« What is the slope of a parallel line?

« What is the slope of a perpendicular line?

7. Given the graph to the right:

¢ Whatis the slope of the line?

¢ What is the slope of a parallel line?

« What is the slope of a perpendicular line?

8. Write an equation in slope-intercept form for a line passing
through the point (4, -8) and parallelto4x -y =-5.

9. Write an equation in slope-intercept form of the line that
passes through the point (1,3) and perpendicular to
Yy =-5x+3

10. Write an equation in standard form of the line that
passes through the point (1,3) and perpendicularto y =-5

11. Write an equation in standard form of the line that
passes through (4,-2), and parallelto y =-5
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1.Are the following lines parzile,, perpendicular, ~r Are the following lines parallel, perpendicular, or
neither? neither?
*;J; LL 2. y=-2x+11
i y=-2x

i ' 3
A o 3. y+4:5(x72)

' 2
13 y—1=——(x+9)

| ! \\ . 4, 4x+35y=-6 X%\‘

[ ! ! 5

HEEEEE R EEEREEE _._tﬁ_]_ﬂ_ _3}_‘9
3 *—%

Write the equation for the line described below 6. Parallel to t d passe!

th t
5. Parallel to the line y +5 and passing saugh.the. poin (

— N Y (¥
through the point (-3, A J'_Ex+4 -m 3\| LXK
B. }=:7%x+4 a = -'—J1 |

> >

be L

N= +7

2
C.y=—x+4
y 3

7. Perpendicular to the line x=-6 that passes 8. Perpendicular to the line y= -3x that passes
throush the point (2, ‘ ‘ throuah the point (0, -10)
X =2 1
A y=-x-10
}4‘= 2 K G

C.x=4 H W [ N + L

By=e 1
. 3
D. y=3x-10

9. What is the slope of the line perpendicular to a

vertical line? 10. Find the slope of 3x + 4y = 8
Undefined 3/4 |
Zero 4/3

-
Positive -3/4 ) S EYS
Negative -4/3

\.‘
ty
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Algebra I - Unit 3 Writing Equations of Parallel and Perpendicular Lines

Practice - Equations of Parallel and Perpendicular Lines
Name Date Period

#1-6. Tell whether each pair of lines are parallel, perpendicular, or neither.

' y=-7x y==2x X+y=0

' y:—%x—S 2. y_3-2(x-4) Ty=x+10
y=06x+16 e 4x+5y=-6 y=2x+6

4. y-6x=-4 Y S5x+dy=2 6. y+l=-2x

3x-4y =8

7. Use the following equation for parts A & B.

A. Write an equation in slope-intercept form for the line that is
parallel to the line and passes through the point (0,4).

B. Write an equation in point-slope form for the line that is
perpendicular to the line and passes through the point (-6, 5)

8. Use the following equation for parts A & B.

A. Write an equation for the line parallel to the given line
and passes through the point (-3, 2)

B. Write an equation for the line perpendicular to the given line
and passes through the point (5, 7)
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Algebra I - Unit 3 Writing Equations of Parallel and Perpendicular Lines

9. Which describes a line passing through (3, 3) that is perpendicular to the line described by y :%x+2 ?

E ¥ | A WE
5

5 3
A.y==x-2 B y=—x+ C. D
Y 3 4 5

b e Lh Gy b oo
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=
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B. |

Y X X Y
) 4 3 A 26 0 -4 -5 /1 ’%E -6 -11 jl
XLE&= S <5 2 L -2§+3'\‘5 -3 5 l‘.b
0 i 0 3 8 i 0 1
2 0 4 5 | 10 2 3 7
=\ 2.1 L &
- - L] -
—) — W= ﬁ%z w%,‘ 13 8 ¥-1|
2 » =
11, What is the equation of the line that has a slope og and passes through th& point (6, -8)?
A.x=6
B.y=6
C.x=-8
D.y=-8
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Remember: Parallel lines have the SAME slope,
Perpendicular lines have FLIPPIN' OPPOSITE slopes!

#1-6. Solve BOTH equations for y=. Then you can...

e use your calculator (ZOOM 9:Square) OR

* you can check your slopes.

l. Neither 2. Parallel 3. Perpendicular You fry 4-6!

7. If you solve the equation for y, you should get y=(3/4)x - 2. What is your slope?
A. Parallel = same slope! (0,4) is your Y-intercept.
B. Perpendicular = flip the numbers, change the sign! Use point-slope form
(y - y, = m(x-x)) and label what you know.

8. What kind of line is x=47 HOY VUX!

9. The slope of your original line is 3/5. What would be the perpendicular slope?
HINT: change the sign!!

10. C. The slope of the original line is 1/2. Only B & C have a parallel slope, but

letter B IS the original line! A line cannot be parallel to itself. :( This is a STAAR

question!!

Il. HOY VUX!
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